
njhilfs; II 

cjhuzk; I 

 fpuhkj;jpy; cs;s tptrhapfs;> mur Copau;fs; njhlu;ghd jftiy ntd;tupg;glk; tpgupf;fpd;wJ. 

 

 

 

 

1. ,f;fpuhkj;jpy; Mz;fs; vj;jid Ngu;? 
 15+30+25=70 

2. mur Copau;fspy; vj;jid Ngu; Mz;fs;? 

 mur Copau;fs; nkhj;jk;  = 15+10=25 

 Mz;fs;   = 25 – 10 = 15 

3. tptrhak; nra;ahj Mz;fs; vj;jid Ngu;? 

   15+25=40 Ngu; 

4. tptrhapfspy; ngz;fs; vj;jid Ngu;? 20 Ngu; 

5. ngz; mur Copau;fs; vj;jid Ngu;? 10 Ngu; 

cjhuzk; II 

 tFg;nghd;wpy; fzpjk;> jkpo;> tpQ;Qhdk; Mfpa ghlq;fspy; rpj;jpaile;j khztu; tpguk; tUkhW: 

 

 

 

 

 
1. fzpjk; rpj;jpaile;j khztu;fs; midtUk; tpQ;Qhdk; rpj;jpaile;Js;sdu;. ,J rupahd $w;wh? 

 rupahdJ 

2. fzpjk; rpj;jpailahjtu;fs; vj;jid Ngu; tpQ;Qhdk; rpj;jpaile;Js;sdu;? 

   5+8=13 

3. %d;W ghlq;fspYk; rpj;jpaile;jtu;fs; vj;jid Ngu;? 3 

4. ,U ghlq;fs; kl;Lk rpj;jpaile;jtu;fs; vj;jid Ngu;? 

 15+8=23 

5. tpQ;Qhdk; kl;Lk; rpj;jpaile;Njhu; vj;jid Ngu;? 5 

6. ve;jnthU ghlj;jpYk; rpj;jpailahjtu;fs; vj;jid Ngu;? 20 

 ghlg;Gj;jfj;jpYs;s cjhuzk; 1> 2> 3 I mtjhdpf;f. 

 gapw;rp 24.1 I Nkyjpf gapw;rpahf nra;f. 
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khfhz fy;tpj; jpizf;fsk; - thuhe;jg; ghlrhiy 

ghlk;:  fzpjk; 

juk;: 11 
jahupg;G : jpUkjp M.U.F. Uik]h 

Nf/ce;Jnfhil jkpo; kfh tpj;jpahyak; 

thuk;  - 32  



 


